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118518 921 | FTHHMRESF (EfE15) [BoH=|Nal 0.11 0.81 0.12 0.98 0.60
11H1H 9:26|LEhEHE [(GEXD)) EDEE [Nal 0.09 0.80 0.10 1.04 0.49
11B1H 9:30|LEMHEIE (B8R [BnBLE|Nal 0.11 0.64 0.11 0.47 0.58
11818 0:35| XA R AR—Y NEH (A—rF+>78) | BDHE [Nal 0.09 0.10 0.08 0.10 0.48
11B1H 9:40| XBIAR R—Y ANEA (%) DL E [Nal 0.06 1.00 0.05 1.14 0.30
11818 9:49|ZELE (EP9) EDH = |[Nal 0.13 0.82 0.14 0.98 0.70
118518 952|CEHE (FEEO) [BonbE|Nal 0.09 0.45 0.09 0.44 0.49
11818 9:55|C EEE (FZ>adl) |BEDHE |Nal 0.05 0.87 0.05 1.03 0.27
11B1H 958[CELE (EE) DL E [Nal 0.05 0.92 0.05 0.99 0.25
11H1H 10:06 |t Hit RESFR [(GEXD)) EDEE [Nal 0.10 0.79 0.10 1.00 0.54
11A1H 10:12[KE )& 17 (ZERD  [BEOHE [Nal 0.08 0.63 0.08 0.44 0.44
11818 10:23|RI R X ESFR [(GES)) FNDH E [Nal 0.07 0.57 0.07 0.61 0.35
11818 10:29 | R B {E 22— (P98 BEDHE [Nal 0.08 0.53 0.08 0.59 0.44
11818 10:33| I EH R ERRT (E¥=15) EFNDHE [Nal 0.08 0.57 0.08 0.92 0.44
11B1H 1037 MILEEMRESF (B8R [BnBLE|Nal 0.07 0.09 0.07 0.08 0.38
1181H 10:42| BiRiEKA15 [(GESD)) EFNDHE [Nal 0.09 0.98 0.09 1.35 0.48
11818 10:49[J 94w GEAR) |[BDOLE|Nal 0.12 0.71 0.10 0.77 0.61
11818 10:53|J 1Ly [EALD) FNDHE [Nal 0.06 0.74 0.07 0.67 0.34
11818 11:01 B DERE S & (EtE15) [BEoH=|Nal 0.09 047 0.10 0.96 0.48
11818 11:04  EDERE S (X [ EDH = [Nal 0.09 0.47 0.09 0.46 0.46
11818 1114 ILHRRXEST (EtE15) [BEoH=]|Nal 0.09 0.69 0.10 0.87 0.49
11H1H 11:19| KRFER (AOED EDHE [Nal 0.09 0.55 0.10 0.46 0.47
11818 11:25 | = 1N R (FF9) BEDHE [Nal 0.08 0.59 0.07 0.74 0.43
11818 1129 [ E/NFRR (Fr0O) ENDHE [Nal 0.08 0.31 0.09 0.30 0.44
11B1H 11:34|—YEFEHXESAT (B8R [BnBLE|Nal 0.07 0.08 0.07 0.08 0.37
1181H 11:39| F/MEth RERRT [(GEXD)) EFNDHE [Nal 0.11 0.60 0.09 0.78 0.59
11818 13:21 [{EEFth R ESFR (EfE15) [BEoH=|Nal 0.09 0.63 0.10 0.58 0.49
1181H 13:25| R X E LT [(GEZD)) FNDHE [Nal 0.10 0.55 0.10 0.73 0.52
11818 13:30| B MR ESAT [(ZES)) ENHE [Nal 0.10 0.59 0.09 0.79 0.53
11818 13:40| KIR X E £ [(EEZD)) EDH = [Nal 0.09 0.98 0.09 1.11 0.45
1181H 13:53| X Fih X ESFR [(ZES)) EDEHE [Nal 0.11 0.99 0.1 1.05 0.57
11818 14:00| KEEf4t [(EEZD)) EDH = [Nal 0.11 1.04 0.11 1.36 0.59
11818 14.06| KF & L (hrpEEES) [ DL = |Nal 0.10 0.66 0.10 0.93 0.52
11818 14:18| Z RERHM X E ST [(EEZD)) EDH = [Nal 0.10 0.67 0.09 0.72 0.54
11818 14:44| E/NGH K E LR (EfEH15) ENDLE [Nal 0.09 1.10 0.10 1.37 0.48
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